7B Test 2 Sample

Unit 2
Fill in the blanks.
(1) True or False: cos® 6 =1-sin’ 6
(2) cos(x-y)=
(3) sin(6/2) =
(4) Write as a product: cos(6x)-cos(2x)
(5) sin2o=
(6) Given tana = 2/3, a in the third quadrant, and cos 6= 12/13, 37”< 0 <2
Find:
a) sin (a-0)
b) cos(o /2)
c) tan (2a)
(7) Using identities, find the exact value of:
(a) sin108°cos 63°-cos 108°sin63°=_____ (b) cos(-n/12) ________

(8) Solve for 6 exactly (in radians, 0<6 <27 ).
(a) sin6=0.7 (b) tano =-4 (c) coso= -5/6



(9) Simplify sin(tan"1 (?) —cos™! (%))

(10) Verify the following identity. Presentation counts.
2tan 0

si1126=—2
l+tan® 0

(11) Solve forO<x<2m: 1/§tan(2x)+1 =0

(12) Find all solutions: 4cos(§) =-4



| Find all solutions to the following equations. (7 points each)

(14) 2sinx-+/3 =0 (15) 4cos?x -2 =0

| SOLVE the following equations: 0 < x <2m (8 points each)

(16) 8-6sin® x = 7 cos x (17) %cost sin(2t) = sint




